Finited States of Ameriza
Bepartment of Treanvspordion—Federal Aviation Admintstration

Supplemental Tupe Certificate

Nizrribor SA01251SE

Ths certifocate, risued lo: Rosen Sunvisor Systems, LLC
86365 College View Road
Eugene, OR 97405

rﬂf/r)'/zéu Lhert e f‘/f/ﬂ"/?y( in e lopee a{u{gﬂ& }/(V" Ko /{‘f%‘/ﬂl)(y- /f/{*(é&ﬂ/ 1o ddh the Lomitalions andd condedvosns /Aﬂﬁf i
yﬂwﬁ.’// Hereorn meels ihe airevorthineis regetremiends .r'/ Sorrt” ("/ = Federal Aviation Administration
Segetutions. *Certification basis established in Type Certificate Data Sheet.

Criginal’ Spoduct—Tgpe Cortificate Number: * See attached FAA Approved Model
AMake. List (AML) No. SA01251SE for a list of approved models
Meodel': and applicable airworthiness regulations.

%J(W//’t/i(w. r/ e zﬂl %ﬁlyn ZA{”W(

The manufacture of a Sunvisor System in accordance with Rosen Sunvisor Systems, LLC. Master Drawing List
defined on attached AML.

Lvmctalbeons and Condileons.

I Compatibility of this design change with previously approved modifications must be determined by the
installer.

2 The Sunvisor System must be installed and maintained in accordance with the Component Maintenance
Manual With [llustrated Parts List document as noted on attached AML.

3. A copy of this certificate and FAA Approved Model List SA01251SE must be maintained as part of the
permanent records of the aircraft.

4. If the holder agrees to permit another person to use this certificate, the holder shall give the other person

written evidence of that permission.

Thrs /'(f//)‘.//ra/ﬁ cened e Segpypeorting dezter cohbeck i the lariii )/f‘/’ fyy//(vw/ shbearl¥ remcren cn r;%r/ cendel seerrendered,
J(/sym/zré'(z./ revekoed, or @ lerminalion dale ii olferadie eilaldvified /pr Mo . Aodoninistoalor r/ the Fadtoral' . Coralion

Ao inisbralion.

Dt ('/ rzyyﬂ/‘f;'ﬁz//kw May 14, 2003 Dwrte reciseredd
Yute of csswance. August 6, 2003 Ynte wmendeed/ December 8, 2008 February 28, 2012

ﬁy /4)?"(‘4(/?'?7(‘/ the Adorrindsdrealer

—

(Signature)
Greg sond Acting Manager
ircraft Certification Office
(Title)

Any alteration of this certificate is punishable by a fine of not exceeding $1,000, or imprisonment not exceeding 3 years, or both.

This certificate may be transferred in accordance with FAR 21.47.
FAA FORM 8110-2(10-68)



$301

,m_ COETBM nH UOTSTAY
‘T00-TLT0-1506 “1d €T
80/8/C1 ewndo(q | -00001L1¥ | ¥dD ¥1 °NLL INZZV d1-V ‘VI-V ‘1-V &snH ey | g
081-L-LXN
‘0Zh-L-1LIN ‘VOTP-L-N OV081
-L-XW “D091-L-XIN DVOTH-L
- “D092-L-W “09Z-L-LN “09C
-L-IN “D081-L-XIN “DSET-L-N
‘VSET-L-N “dSET-L-IN “d081-L
"UOISTART -XW ‘0Zh-L-XN ‘VOSI-L-ILXN
paydadoe vy | "VO81-L-XIN “091-L-XIN “S€T
1a1e] 10 “800T -8-N ‘SET-1IN ‘081-L-XIN ‘S€T
‘[ 1 dunf pajep -L-XW ‘SE€T-L-W “SE€T-9-IN ‘081
“V UOISIASY UOISIART -9-N “DSET-S- N “D0TT-S-IN
T00-1L10-1506 paaoidde *DL01Z-S-N “D01Z-S-IN ‘00T
Jusuwndo(] | VYV 19e] G- “D081-S- “L-0CT-+N ‘S
pue 8007 | 10 80/97/8 -02C-¥"W D02+ “~0TT-7-N
‘01 YDIBIN pajep poyep ‘LOIZ-+-IN ‘SOTT-+-N D01C-¥
‘g UOISIAY | ‘] UOISIAY -IN ‘01Z-v-IN “LO8T-¥-N ‘S081
‘T00-1L10-1506 “1d €T - “D081-v-IN ‘Lt~ ‘St
80/8/C1 yuawndo | -00001L1Td | ¥AD 1 9PLL €TVE | I DF N p-IN ‘p-IN 2 2o |  dMe) I
suononIsuy Jaquunp
uu&ﬂ ju SSOUIYLIOMITY =c=w.—@=< jedJ1LI2 )
JuWpuRWY mum.:ﬂﬁ:c.u —wﬂﬂ ISi A0J siseyq Qa—hh. INEJA
TNV Eumu_w:wum:— wﬂ_aﬂhﬁ ﬁo_a«uﬁ_tomv -mﬂ_wmao —uﬁcz u.—a.—u.—_d« Jenay [LIGHY |

€00C ‘9 1sndny :91e(J anSs|

SW)SAS J0SIAUNG JJLIIITY UISOY JO uone|[ejsuy

a0

2711 .mEOam%m J0STAUNS UIS0Y
ASISTIOVS "ON (TINV) 38T PPOIN pascaddy vvy




¢Jo?

‘T00-TLTI0-1S06 “1d | -¢€ yuswpusure
CIL/LT/C juRuWndo( | -00001LTY ‘€AVD L6LV ¥I-vVd wdig s
"UOISTASI UOISIAQI
paydoooe pasoidde
VvV 191e] VVd 1918
10 °TI0T 91 | 10 11/L2/01
A1eniqa, parep pajep
‘(] UOISIAY | M UOISIAY 9
‘T00-TLT10-1S06 “1d | -¢€ Juswpuaue
Cl/L1/C juawmndo(] | -00001LTd €V 08L-V Cl-Vd ndig 14
"UOISTASL UOISIADI
paydaooe poroxdde
AUAVAS REIiH| V'V, 1o
10°710T 91 | 10 [1/LT/01
Areniqa paiep pajep
‘(J UOTSTAQY | “3 UOISIADY
“T00-1L10-1S06 “1d
Cl/LL/T juauwmoo | -00001LTd By AVD [69-V SII-Vd ‘11-Vd Todig ¢
"UOISIAI
pardosoe v
19181 10 ‘800T
‘11 aunf pajep
“Y UOISIADY UOISIAI
"T00-1L10-1506 pasoidde
JUWND0(] VvV I91e]
Pue 800¢C 10 80/9T/8
‘01 YoIeJN pajep p=3ep
suonaInIsuy Jaquiny
e IuU | SSAUIYLIOMITY uoneINy JBIYNLI)
JuwIpudWY | panupuo)) pue ISIT 10j siseg] adL, ME
TNV uone[eIsuy sSulmel(q | uonevIYNII) [ewiSLIQ) [PPOJAl JRIIY | eIl | W]




cjog

10 °Z10T 91 | 10 [1/LT/01
A1eniqa, pajep pajep
‘(J UOISIAQY | Y UOISIAY ]
“100-1L10-1506 “1d | -€ yuswpuswe
Cl/L1/T uauwmoo( | -00001LTd CAVD S08-V L1-Vd Todig 8
"UOISsTASL UOISTAQI
padaooe paroidde
VvV 191e] VVA 1=1e]
10 °Z10T 91 | 10 [1/LT/01
Lreniqa g paiep pajep
‘(T UOISTADY | 3 UOISTASY b
‘T00-TL10-1S06 “1d | -¢ Juswpusure
CLILLE jusumao | -00001LT™ ‘€AVO VI S91-Vd 91-Vd Todig L
‘uoisiaal UOISIADI
paydoooe poroidde
VVd =ie] V'V I21e]
10 °T10T 91 | 10 11/LT/01
K1eniqo paep pajep
‘( UOISIASY | M UOISIAY Q
‘T00-1L10-1506 “1d | -€ uswpudwe
elL/LLE U201 | -00001LTA ‘€AVD 008-V SI-Vd 1dig 9
"UOISIAI UOISIADI
paydasoe paroidde
VvV 19¥e] V'V 191e]
10 °T10T 91 | 10 [1/LT/01
Kreniqa paiep pajep
‘(T UOISTADY | 3] UOISTAY 8
SUONINIISU] JdquInn
Qe Iu | SSIUIYIOMITY uoneINy eIYNI)
JwipudwWY | panupuo)) pue ISI| 10J siseq adA], MEIA
TNV uone[eIsu] guimel(q | uonevIYNI) [euISLIQ [PPOJAl JeIodTY | Peadary | wd)|




¢Jjoy

10°Z10T 9T | 10 [1/LZ/01
Areniqa,] pajep pajep 091-STZ-Vd 091
(T UOISIADY | “3] UOISIAY 8 -2¢-Vd ‘0S1-STZ-Vd ‘0S1-CC
“T100-1L10-1506 “1d | -¢ yuswpuswe -Vd ‘S€1-STT-Vd ‘SE1-TT-Vd
TIIL1/T wawmndo( | -00001L1Y ‘€AVO 9V 1 ‘801-22-Vd ‘TT-Vd Rdig | 11
"UoIsTAL UOISIADI
paydaooe paroadde
VVd 1[ig] VvV 191e|
10 ‘7T10T 91 | 10 11/LZ/01
Areniqo paiep pajep
(] UOISIAY | Y UOISIAY 8 «SE€1. S0T-Vd
‘T00-1LT10-1S06 “Id | -€ yuswpudwe iSE1, 0TV d .611,80Z-Vd
CI/L1/T yuawmoo(q | -00001L1d €AV PVI | ‘Sl 0T-Vd ‘S0T-Vd ‘0T-Vd wdig | 01
S61-Vd (D81
-TAwry) 61-Vd “.0S1., SV8I
-Vd “.0ST.- S81-Vd “.0SI.
"UOISTAL UOISIAQI V8I-Vd “.0SI. 81-Vd “.SEL.,
paydesoe paroidde SV8I-Vd “.S€1.. S81-Vd
V'V 1] YV 18] “S€1,, V81-Vd ‘(d1z-TAury)
10 °TI0T 91 | 0 [1/LZ/01 «SE€T, 81-Vd ‘«ST1, SV8I-Vd
A1eniqa g pajep pajep ‘ST, S81-Vd (VIZ-1 Awry)
‘(T UOISIAY | M UOISTAY 8 «ST1. 81-Vd ‘V8I-Vd ‘(feroadg)
‘T00-1L10-1506 “1d | -€ yuswpudwe «S0T.. S81-Vd ‘(feroads)
CL/L1/T Juauwmoo(q | -00001L1d ‘€AY V1 «S0T.. 81-Vd ‘S81-Vd ‘81-Vd rdiy | 6
“UOISTADI UOISTASI
paydaosoe paaoidde
VYV 10%e] VALRCL
suononajsuy Lon__.::Z
e[ U | SSIUIYIIOMITY LIGTRLABIT A BILA]IIIRE]g)
JUWIpUdWIY | pPInNuURuo)) pue ISI'T J10J siseq adA T, MEeA
TNV uone[eIsuy Suimen(q | uonevIYNId) [euISLIO) [FPOIA MEIITY | JJeIdITY | WAl




cjog

T10T ‘8T A1eniqa,| :papuowry

YJO HONERUFLIDTY
JRIDITY JOAUQ(] ‘Id3eur NoY,
I :paaorddy vv4q
"UOISIAI UOISIADI
paydoooe paroidde
VVd 1°3e] VvV 191e|
10 °T10T 91 | 10 [1/LT/01
Kreniqo,] paiep parep
‘(T UOTSTADY | 3] UOISTADY
“T00-1L10-1S06 “1d 14
CI/LL/T juaumndo( | -00001LTYH By VO L9L-V | -801 “€-801 “T-801 “1-801 “1-801 U2sun§ el
"UOISTARI UOISIAI
paidasoe pasoidde
V'V 193] VVvd 19e]
10 °Z10T ‘91 | 10 [1/LT/01
A1eniqa, pajep paiep
‘(] UOISIAY | “] UOISIAdY
‘T00-1L10-1S06 i (4] A8 oq
Cl/L1/T juawmdo | -00001LTYH By AVO $69-V | -1 ‘48 “d8 ‘d8 ‘D8 ‘d8 V8 'V§ | woosnT] Cl
"UOISIADI UOISIADI
paydadoe paaoxdde
VYV 191e] YV 1918]
SUONINIISUT Jaquuny
e Iu | SSIUIYLIOMITY uoneII Vv )eIYNI)
JWpUIWY | panupuo)) pue ISI'T 10J siseq adA], MEN
TNV uone[eIsuy Suimea( | uoneIYNIA) [ewsLIQ) [PPOJAl JeIoa1y | PJrIdaly | wdj|




Q

Transport Airplane Directorate
g.fs'lrrgr?s%%?gﬁ 8:1 Aircraft Certification Service

Denver Aircraft Certification Office
Federal Aviation 26805 E. 68" Ave, Room 214
Administration Denver, CO 80249

May 21, 2013

Quality Administrator

Rosen Sunvisor Systems, LLC
86365 College View Road
Eugene, Oregon 97405

Dear Ms. Skidmore:

This letter is in response to your submittal of minor design changes for Supplemental Type
Certificate (STC) SA01251SE, on May 10, 2013. The Master Drawing List (MDL) updates
include changes that Rosen has made as a design approval holder to meet current company
standards.

We have completed our assessment of the design changes made in accordance with the FAA
letter dated July 23, 2009, authorizing Rosen Sunvisor Systems to approve minor design
changes, and find that they do not conflict with previously demonstrated compliance.
Accordingly, Rosen Tube Mount NSA Sunvisor System Drawing List, R1710000-DL,
Revision L, dated 5/8/13 his hereby Federal Aviation Administration (FAA) approved.

If you have any questions, please contact me at (303) 342-1085.
Sincerely,

kol Fhmarinr

Richard R. Thomas
Project Engineer



SUNVISOR SYSTEMS

Tube Mount NSA Sunvisor System

Kit R1710000-XXX

Date Revision

Approved

10/2/15 M

GH

Drawing List
R1710000-DL

Doc. #9050-0171-001

3 R1710000

§ v || o [ [ Drawing Reference Description Rev

5 1 1 1 1 1710000 R1710000 Complete System G

1 1710200 Lens Assembly (Husky) G

1121 1710100-1 Mounting Assembly 3/4 G

i 1710100-3 Mounting Assembly 5/8 G

2 1710100-4 Mounting Assembly 7/8 G

2 T 1710102 Tube Mount — Swivel D

1710103-1 Tube Mount — Bottom 3/4 J

i 1710103-3 Tube Mount — Bottom 5/8 J

2 1710103-4 Tube Mount — Bottom 7/8 J

1 2 1 1710104-1 Tube Mount — Top 3/4 H

2 1710104-3 Tube Mount — Top 5/8 H

: 1710104-4 Tube Mount — Top 7/8 H

1|2 |1 —+2+ 1020100-001 NSA Mod Block Assembly | E

- - - 1020002-001 Modified ‘A’ Block M

-] - 1020003-001 Modified ‘B’ Block P

1|2| 1 -2+ 1010000-5 Complete Slide Assembly | E

- - - 1010001-5 Female Slide L

- - 1010002-3 Male Slide L

2 1710201 Lens D

2 2 12 | 1010003 Lens Strip D

2 12 . 1710202 Lens C

1[1]1]1]| 1 |9051-0171-001 Tube Mount CMM/IPC D

86365 College View Road

Eugene, Oregon USA 97405
WWW.rosenvisor.com

(541) 747 0034
Page 1 of 2




SUNVISOR SYSTEMS

Part Number/Aircraft Model Application Table

1710200 | 1710000
-114 -011 -114 -034 -134 -041 -144
Husky Maule Piper Piper Piper Stinson Piper
A-1, Bee Dee M-4, PA-12, PA-14, | PA-20, PA-15, PA-16, | 108, 108-1, PA-11,
A-1A, M-4, M-4C, PA-18, PA- PA-20S, PA-16S, PA-17 | 108-2, 108-3, | PA-11S
A-1B M-4S, M-4T, 18S, PA-18 PA-20 “115", 108-4

M-4-180C, M- “105” (Special), | PA-20S “115”,

4-180S, M-4- PA-18S “105” PA-20 “135”,

180T, M-4-210, | (Special), PA-20S “135”,

M-4-210C, M- PA-18A, PA-18 | PA-22,

4-210S, M-4- “125”" (Army L- | PA-22-108,

210T, M-4-220, | 21A), PA-18S PA-22-135,

M-4-220C, M- “125", PA-18AS | PA-22S5-135,

4-220S, M-4- “125", PA-18 PA-22-150,

220T, M-5- “135” (Army L- | PA-22S-150,

180C, M-5-200, | 21B), PA-18A PA-22-160,

M-5-210C, M- “135", PA-18S | PA-225-160

5-210TC, M-5- | “135”", PA-18AS

220C, M-5- “135", PA-18

235C, M-6-180, | “150", PA-18A

M-6-235, M-7- | “150", PA-18S

235, MX-7-235, | “150", PA-18AS

MX-7-180, MT- | “150", PA-19

7-235, M-8- (Army L-18C),

235, MX-7-160, | PA-19S

MXT-7-160,

MX-7-180A,

MXT-7-180A,

MX-7-420,

MX-7-180B, M-

7-235B, M-7-

235A, M-7-

235C, MX-7-

180C, M-7-260,

MT-7-260, M-7-

260C, M-7-

420AC, MX-7-

160C, MX-7-

180AC, M-7-

420A, MT-7-

420, MXT-7-

180

Luscombe

8, 8A, 8B, 8C,

8D, 8E, 8F, T-

8F

86365 College View Road

Eugene, Oregon USA 97405

WWW.rosenvisor.com

(541) 747 0034

Page 2 of 2




Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

4 )

SUNVISOR SYSTEMS
Tube Mount NSA Sunvisor System

Rosen Kit Number 1710000-xxx

Component Maintenance Manual
With Illustrated Parts List

Manual Number
9051-0171-001
Revision D

February 16, 2012
Rosen Sunvisor Systems LLC

86365 College View Road
Eugene, Oregon 97405 USA

\. J

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 1 of 12
Company Proprietary Information. This document may
not be disclosed without the permission of RSS




Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

Record of Revisions

Rev Description Date Approved

A | As Released (9050-0171-001) 5/5/03 GH

B | Added Instructions for Continued 8/30/05 GH
Airworthiness, changed doc.
number to 9051-0171-001

C | Corrected hardware, illustration 5/10/10 GH
and install details

D | Changed title to CMM/IPC, 2/16/12 GH
included weights, parts list,
annual inspection
recommendation for inspection

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 2 of 12

Company Proprietary Information. This document may
not be disclosed without the permission of RSS



Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

Introduction

1. General

a. This Rosen Component Maintenance Manual provides use,
maintenance and supplemental airworthiness instructions for the
R1710000-xxx cockpit sunvisor system used on various aircraft.

b. Rosen reserves the right to revise this document for changed
procedures, improved parts or changes to the system or
components.

c. All technical support, spare sales, repairs or modifications are to be
directed directly to Rosen Sunvisor Systems LLC. RSS must be
contacted for future revision of this document as it is possible this
does not contain the latest revisions.

2. Revision Service
a. Rosen Sunvisor Systems does not provide an automatic revision
service.
b. Please contact Rosen if there is any question regarding the revision
status of this document.

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 3 of 12
Company Proprietary Information. This document may
not be disclosed without the permission of RSS



Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

Product Description

1. General
The typical Rosen NSA Sunvisor System consists of two identical,
independent visor assemblies which have been designed to improve pilot
comfort during standard cockpit operations. On Tandem aircraft installations
there is only one visor assembly mounted on the left side of the cockpit. The
assemblies are mounted on the tube frame of the aircraft and provide full
coverage for the pilot and copilot.

2. Weights
Part Number Weight
R1710000-011 2.54lb
R1710000-114 1.08lb
R1710000-034 2.20lb
R1710000-134 1.10lb
R1710000-041 2.63lb
R1710000-144 1.12lb
Fault Isolation
1. General

a. This section identifies Probable Causes and Corrections for
possible faults.

Problem Probable Cause Corrective Action
Lens does not rotate Swing pivot tension Re-tension Swing pivot
smoothly on swing axis incorrectly set
Lens does not rotate Lens rotation incorrectly | Re-tension lens axis.
smoothly on the set

horizontal (lens) axis

Lens tilt does not support | Lens tilt tension not Re-tension lens tilt axis
lens weight correctly set

Lens does not extend Visor extension screw not | Re-set extension screw
easily on arm correctly set

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 4 of 12

Company Proprietary Information. This document may
not be disclosed without the permission of RSS




Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

Installation Instructions and ICA

install time: approximately 1/2 to 1 hour.

Please read these short instructions COMPLETELY before starting.

Installation Hardware (included)

Qty: (1) 1/16 Allen Key

Qty: (1) 7/64 Allen Key

Qty: (1) 9/64 Allen Key

Qty: (1) 5/32 Allen Key

Qty: (1) MS16995-28B

Qty: (1) 8HCLW

Qty: (1) AN565-AC6-4B

1.

for #6-32 Set Screw
for #6-32 Cap Screw
for #8-32 Cap Screw
for #10-32 Cap Screw

#8-32 x 3/4 Socket Head Cap Screw

#8 Lock Washer

#6-32 X 1/4 Cone Point Set Screw

Remove (2) stock visors (as
necessary).

. Remove the 4 screws and lock

washers from clamp assembly.
Position top clamp half on
diagonal tube just down and
below the corner and any soft
goods or cross tube.
Consideration should be made
for side window coverage as well
as the front windscreen. The
bottom of the visor must clear the
instrument glare-shield.

Attach BOTTOM CLAMP HALF
using the same 4 screws and
lock washers. Do not tighten at
this point.

Rotate clamp on tube until the
TAB on BOTTOM CLAMP HALF
is as near to vertical* as possible.
Tighten the 4 clamp screws
evenly.

Mount the visor on the clamp
TAB by installing the #8-32 x 3/4”

SWING
AXLS“H._:

I #8 LOCK WASHER
#8302 ¥ 34
-~ SCREW
r--

HALF

.. #6-32 CONE
. "‘“n\dfPOINTSET
! SCREW

SCREW and #8 LOCK WASHER. Position the
joint so the visor SWING AXIS is vertical*. See
example installations on a Maule and Husky on

pages 2 & 3, respectively.

*In normal horizontal flight

Rosen Sunvisor Systems LLC Data
Company Proprietary Information. This document may

not be disclosed without the permission of RSS

9051-0171-001 Rev D

Page 5 of 12



Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

6. Tighten the 8-32 x 3/4 SCREW

7. Tighten the #6-32 x 1/4 CONE POINT SET
SCREW. The cone of the set screw will drive into
the tab — locking it in place.

8. Repeat for the other side (if applicable).

9. Installation is now complete. Proceed to adjust
the visor tension in the next section.

Removal

Removal is a reverse of installation.

Visor Tension Adjustments:

S

|?‘\
N ‘ag

N S M‘h‘ -'i'--

L
Q)

\

‘

o

I
N\

-‘-‘:.:p.

3

;’

>

-?a,
[ | (l‘
\.( i

WVISOR EXTENSION
ADJUSTIMENT

=

TENSION
ADJUSTEMENT
SCREWS

The three pivots of the Rosen NSA System are independently adjustable with the
provided Hex Keys. Adjust the tension in each axis to your preference. All
motions should be smooth, but not loose. The thumb screw on the VISOR
EXTENSION ADJUSTMENT will allow you to make adjustments at anytime.

To stow, the unit can be rotated straight to the overhead while in front, or moved
to the side of the aircraft and rotated overhead. While in the forward position the
NSA visor stows nicely overhead.

Place the FAA STC and AML (if appropriate) in the Aircraft Maintenance Log and
make an installation entry.

/

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 6 of 12
Company Proprietary Information. This document may
not be disclosed without the permission of RSS



Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

Continued Airworthiness Instructions:

e (On the ground only)

o Periodically clean the lenses with a soft cloth using Rosen Plastic
Cleaner, Polisher and Protectant, or mild soap and water. Do not
use abrasives on the lens.

Periodically adjust the pivot tensions on the visor assemblies.

Periodically (at minimum on annual inspections) inspect attaching
hardware for security.

e Updates to this continued airworthiness section are available on the Rosen
Website. (www.rosenvisor.com)

The most up to date version of this document is available on the Rosen Website.
(www.rosenvisor.com) We recommend that you periodically look to make sure
you are using the most current version.

Airworthiness Limitations:

The Airworthiness Limitations Section is FAA approved and specifies
maintenance required under 8843.16 and 91.403 of the Federal Aviation
Regulations unless an alternative program has been FAA approved.

There are no airworthiness limitations associated with this installation.

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 7 of 12
Company Proprietary Information. This document may
not be disclosed without the permission of RSS


http://www.rosenvisor.com/
http://www.rosenvisor.com/

Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

Maule Installation Example: Image showing measurement from corner soft goods

Completed Maule Installation

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 8 of 12
Company Proprietary Information. This document may
not be disclosed without the permission of RSS



Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

] 77 & :
Husky Installation Example: Image showing measurement from cross tube.

Husky Completed Installation: Side window coverage.

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 9 of 12
Company Proprietary Information. This document may
not be disclosed without the permission of RSS



Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

Figure 1

Figure 2

Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 10 of 12
Company Proprietary Information. This document may
not be disclosed without the permission of RSS



Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

Part Listing
Figure | Figure | Part Number Description Reference | Eff QTY
No ltem
1 R1710000-011 | Complete Tube Mount System, System
¥” Mount and Universal Lens
1 R1710000-114 | Tube Mount Visor Assembly, System
Pilot Side, %" Mount and Husky
Lens (not shown)
1 R1710000-034 | Complete Tube Mount System, System
5/8” Mount and Husky Lens
(not shown)
1 R1710000-134 | Tube Mount Visor Assembly, System
Pilot Side, 5/8” Mount and
Husky Lens (not shown)
1 R1710000-041 | Complete Tube Mount System, System
7/8" Mount and Universal Lens
R1710200-114 | Husky Visor Assembly, Pilot System
Side Only, ¥” Mount and Husky
Lens (not shown)
1 1 1710201 Lens, Universal 1(pilot assy)
1710202 Lens, Maule 2 (system)
1 2 1710100-x Mounting Assembly 1(pilot assy)
2 (system)
1 3 1010000-5 Slide Assembly 1(pilot assy)
2 (system)
1 4 1020100-001 Mod Block Assembly 1(pilot assy)
2 (system)
1 5 1010003 Lens Strip 1(pilot assy)
2 (system)
1 6 8HCLW #8 High Collar Lock Washer 3(pilot assy)
6 (system)
1 7 MS16995-28B | #8-32 X .750 Hexagon Socket 2(pilot assy)
Cap Screw(Black) 4(system)
1 8 AN565-AC6-4B | #6-32 x.25 Set Screw (Cone 1(pilot assy)
Point) 2 (system)
1 9 1710102 Tube Mount - Swivel 1(pilot assy)
2 (system)
1 10 MS16995-27B | #8-32 x.625 Hexagon Socket 1(pilot assy)
Cap Screw (Black) 2 (system)
Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 11 of 12

Company Proprietary Information. This document may
not be disclosed without the permission of RSS




Rosen Sunvisor Systems CMM / IPC for Sunvisor Assembly (p/n R1710000)

11 MS24693- #8-32 x.375 Phillips Flathead 3(pilot assy)
c48BP Screw 100 (Black/Patch) 6(system)
1710100-x Mounting Assembly 1(pilot assy)

2 (system)

1 1710103-x Tube Mount - Bottom 1(pilot assy)

2 (system)
2 1710104 Tube Mount - Top 1(pilot assy)
2 (system)

3 6HCLW #6 High Collar Lock Washer 2(pilot assy)

4(system)

4 MS16995-20B | #6-32 x .75 Hexagon Socket 2(pilot assy)

Head Cap Screw 4(system)
Rosen Sunvisor Systems LLC Data 9051-0171-001 Rev D Page 12 of 12

Company Proprietary Information. This document may
not be disclosed without the permission of RSS




	SA01251SE
	STC0102
	STC0103
	STC0104
	STC0105

	R1710000-DL Rev I Tube Mount Drawing list
	Tube Mount NSA Sunvisor System 

	9051-0171-001 Rev B Installation Instructions Tube Mount Sunvisor System
	Installation Instructions for NSA Tube Mount Sunvisor System

	9051-0171-002 Rev A Installation Instructions Husky Sunvisor System 
	Installation Instructions for Husky Tube Mount Sunvisor System

	R1710000-DL Rev K Tube Mount Drawing list.pdf
	Tube Mount NSA Sunvisor System 




